3703~ 3304- TRoBARILITY Al STATSTICS AR
(Ol - Leche 2F  (Cruil ) EncuNeeRING

L C&S{ ‘Q\W\-Q F., \VaLve f\ﬁok = ‘:lvalue /—w

- =
TesT v MEAN oF NoRMAL, %e“'&%”;';/ Prio. = e
VARIANCE  KNOWN N(Mo' I\ Raject Ho i p-value < o¢.
‘uo'./A:/Ao uf_éfd’.ﬁlﬂf Zo.;_é;b.
o (@D pipo o (T)H>Ho G _
ov (IX) p <o Cose T polue = 2 P(Z_> = :)
ﬂ%ed’ H, ]C Ix,«o > Tup o
(a..se j[ e ‘(/\rg \ /- '—?:,(/z
ﬁndeck l—\ro ‘@, .u\ [ n B
bJ\/J\A %9 > %o( i‘F l%,‘? zd/z o

— R < -2,,

Cone AT
i ——
Rejeck [, fv H')uﬁ/\w T, < —2,.

S(ACL M*@J@(ACQ (s N(O,i) 'a,a sbove /s called o
2 - test

’{. we unwvap al:wc, e get caticad m:béovx{s)c\bsd?
l‘CSlW\Sa‘Q.S J(LJL lbO("’o‘)b/o (j‘ Soumd.s Lot
tlobive o e hot x



B R (R Il
wi‘>/uo+2%6_‘:_\)

;\’Q I :/,('7/1/(0: (R )_c>/4o+2o<(§‘—;\
) W pcpe ce X <o —2q (£)

1] L
/“‘ .
B * Jet

Ew(e b sucple o 25 adulbs gave meau

bode, Yewrp. of 36.83°C . Body dewwp assumad
fo be Nomal wilh o = 0.34°C.

Test (158 ¥ 3F°¢
by oo 3FC ol dwel o = 0-0(

Qs
—

2, = XM = 3.8-3t ~9294
/Sn 0.3% /s

P-value = P (2, £-294) + P(2 7 24)
2(0.00l1C4)) = 6.003282.

£ « =0.0].
lw His e ) rejcaé Lo (mean ¢s anllleely tbe 3FC)

\(



e_f’c_d_l F-: P(’&u /A ercor)

We fix ot= P(Type Tewor) & Juis aflects f

bt we cam  Still influence @ by Olwwgwj Siungle

Si2e M.

b dponds w Pane mean M= M 4T oy
(se/x°=/A«f)

So bows does b dopenid o J .

h 2 —sided cace :

p5) = P(-2, €2, <2y

z 2




( stwdanlizing b (2-2,)- B
ks th = e ) ~o

(f

o

,j’\'(o’/\m, 1)
Mmr#. ﬂ—/»ﬂf

o 7 N(//m)' )

) CK‘T‘CRL M -ﬁj*f—
( ( REC 10 ?:)L(j
Tom above we [uane for (- sicded sttuation

(Nplae Zoc W2,
z

n an q,ﬁaopnnx)

So }F we ‘F{ﬁp & wé_ ICMW/'( -,-/ao.,_d—

5
E X anple B“.(.(.e_,‘j life in hous ~ N(/”/ [.5)

[0 bateneo hane Swple e am 46.S lowz. [£ the
brwe mlan /l,[(, s 43 wa/ loro bfg QSWQA,




We wneed & tusure /: < 0.05 i a 2-sided 4eot
with by i p=do | H U240 ab L= 00257

5‘0/0\'{:0.”
n x (¢ ~+

&

%
zo.o.zs: 224- ’\‘
g; )’\i=S e/vbovsah
73 Hyfo%mc’s Test o Momead /{'{éam/ Vrrance

UN kwowsn

A’MLOjouo  CT. Seéévitj —
MSe %_o[,,g-éypéuﬁom

lere aMdloﬁauo Lest statslc /s
T, = X-Ao Wit has a
5/\[;\ & — distributon w[ﬂ
n—[ degreesof fredos

A’“ SL{'lAf MWZZ% Wnd/oj% +o Auown yaamcp




Q " . 2 — Uo
ding ﬁ

\uo - /1/1';/“0 /%wé U, if /40(7%,11—(
b @) A<

() > Mo = Rjeckh, if €0 >k,
(_ﬂ/‘_\/m Mo — Lyjedb-Hy ifto <t



